
 
                                                                     

 
 
 
 
 
                                                                                                   

            
        

 
 
      

 
 

       

 
 
 
 
 
 
 
 
 
 

 

WARNING: Excessive Weight! 
Risk of tipping if cabinets are not installed correctly. Use extreme caution, and 
ensure all cabinets are securely attached to the wall. Use two or more people to 
assemble, install and move cabinets. Never leave children unattended near 
cabinets. 
For further information please contact GStandard Products at (408)437-6230 or by 
email at customerservice@gstandardproducts.com. 
 

 ATTENTION: 
• Do you have a damaged OR missing part? 
• For immediate service, please call (408)437-6230. 
• DO NOT RETURN TO THE RETAILER. 
• PLEASE RETAIN YOUR RECIPT for your warranty. 

Garage Cabinet Storage System 
 

Classic Series 1.0 

Model  No.： 
GZTA30232011 
GZTA30232012 
GZTA30231011 
GZTA30231012 
GZTA30242001 
GZTA30242002   



 
                                                                     

 
Table of Contents 
 
Safety Guidelines .................................................................................................................................. 3 

Unpacking ............................................................................................................................................. 4 

Hardware Supplied ............................................................................................................................... 4 

Tools Required ...................................................................................................................................... 4 

Limited Lifetime Warranty ..................................................................................................................... 5 

Products ................................................................................................................................................ 6 

Wall Cabinet .................................................................................................................................... 6 

Locker ............................................................................................................................................. 6 

2-Door Base Cabinet ...................................................................................................................... 6 

      1-Drawer 2-Door Base Cabinet ....................................................................................................... 6                          

Installing the Feet .................................................................................................................................. 7 

Installing the Shelves ............................................................................................................................ 7 

Installing the Worktop ........................................................................................................................... 8 

Setup ..................................................................................................................................................... 9 

1. Planning the position of the cabinets .......................................................................................... 9 

2. Hanging the lockers and wall cabinets on wall ......................................................................... 10 

3. Connecting the cabinets and lockers together .......................................................................... 10 

Operation ............................................................................................................................................ 12 

Maintenance ....................................................................................................................................... 12 



 
                                                                     

 

3 

Safety Guidelines 

 WARNING: Use two or more people to move, assemble and install the product to avoid 
any injury. 

 WARNING: DO NOT leave children unattended near the product. 

 WARNING: DO NOT stand on the product or lean on the drawers or worktop. 

 WARNING: WEAR SAFETY GLASSES when removing or repositioning the slides. The 
tools could slip, which may cause personal injury. 

 WARNING: DO NOT alter the product in any manner. For example, do not weld external 
lock bars or attach unapproved electrical equipment. This may cause 
product damage, personal injury or death. 

 WARNING: DO NOT OVERLOAD PRODUCTS!  
 WARNING: This product may contain one or more chemicals known to the State of 

California to cause cancer and birth defects or other harm. 
Wash hands thoroughly after handling. Failure to heed these 
warnings may result in personal injury and/or property damage. 

 
 
 
The components of the product are designed to carry the following maximum weight 
capacities: 
 

Cabinet 
Shelf Weight 

Capacity 
(lb) 

Drawer Weight 
Capacity 

(lb) 

Bottom Weight 
Capacity 

(lb) 

Top Weight 
Capacity 

(lb) 

Overall Weight 
Capacity 

(lb) 

Locker 150 / 220 150 820 

 Wall Cabinet / / 100 / 100 

 2-Door Base Cabinet 150 / 150 220 520 

 1-Drawer 2-Door Base Cabinet 150 100 150 220 620 
 
 
 CAUTION BE CAREFUL when opening more than one drawer. The product could become 

unstable and tip, which may cause product damage or personal injury. 

 CAUTION High risk of tipping if the product is not installed correctly. Securely attach 
the product to the wall to avoid serious injury. 

 
 
 



 
                                                                     

 

4 

Unpacking 
1. Start by placing the package on flat covered ground. 

2. Remove all cardboard, honeycomb board, foam packaging material and clear plastic bags. 

3. Verify all the contents are included and gather the tools required. 

4. Recycle all packaging materials. 

Hardware Supplied 

No. Hardware Locker 
Wall 

Cabinet 
2-Door Base 

Cabinet 
1-Drawer 

Base Cabinet 

1 M6 Hex Flange Nut 4 4 4 4 

2 Flat Washer 4 4 2 2 

3 Key 2 2 2 2 

4 M5 x 50 Hex Tapping Bolt 4 4 2 2 

5 M6 x 12 Flat-Head Bolt 20 4 24 24 

6 Adjustable Leveling Feet 4 0 4 4 

7 Shelf 3 0 1 1 

8 Worktop Support for 10-piece set 1 0 0 0 
 

        

1 2 3 4 5       6 7 8 
 

Tools Required 

                  Adjustable Wrench                   12” Magnetic Leveler          Stud Finder             Tape Measure 
                         

  

 
 
 
 
 
 
 
6mm Phillips Screwdriver  5mm Slotted Screwdriver   Cordless Power Drill  

  
Set Square          Pencil 



 
                                                                     

 

5 

 

 

Limited Lifetime Warranty 
This 24Gauge Garage Cabinets are warranted to be free from defects in materials and workmanship 

under normal use for the lifetime that you own the product. If any part of the product is found to be 

defective during normal use, the defective product or part will be replaced at our discretion. This 

warranty does not cover products that are damaged through accident, abuse, misuse, 

commercial/industrial applications or neglect. This warranty also does not cover any losses, injuries 

or costs including indirect, incidental or consequential damages. This warranty may not be 

transferred or sold. When requesting warranty service please call (408)437-6230. Have the model 

number, invoice and the date of purchase available when you call. If the product is defective, we will 

replace the defective part at no cost to you. This warranty gives you specific legal rights and you 

may have other rights, which may vary from state to state. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
                                                                     

 

6 

Products 
1-Drawer 2-Door Base Cabinet                         Wall Cabinet 

 
 
 
       

 

 

 

 

 

 

 

2-Door Base Cabinet                                             Locker 

 

                                            

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
                                                                     

 

7 

Installing the Feet 
Carefully set the locker / 2-door base cabinet / 1-drawer 2-door base cabinet on its back, and then 
attach the adjustable leveling feet to the locker or the cabinet using sixteen M6x12 flat-head bolts 
with a Philips screwdriver. 
                                                
 
 
 
 
 
 
 
 
 
 
 
 

 

Installing the Shelves 

Determine the placement of the shelves. Insert the shelf into the slots. Make sure the shelf is in the 
slots on the same level. 
 
NOTE: A center shelf must be installed level with the lock on the cabinet door in order for the lock to 
work.          
 
 
 
 
 
 
 
 
 
 
 
 
 
                                           
 
 
 
 
 
 
 



 
                                                                     

 

8 

Installing the Worktop  
Open the doors or remove the drawers to make sure you have enough space to install the worktop. 
 
 
 
 
 
 
 
 
 
Carefully place the worktop on the cabinets and fasten it with a cordless power drill or screwdriver 
and four M6x12 flat–head bolts in the parts package of each base cabinet / 1-drawer 2-door base 
cabinet.  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Some sets need to attach the worktop directly to the locker. Attach the support to the side of the 
locker with two M6x12 flat-head bolts and two M6 hex flange nuts. Level the support top with base 
cabinet. Attach the support top to the worktop. 
 
 
 
 

 
 
 
 
 
 
 



 
                                                                     

 

9 

Setup 
1. Planning the position of the cabinets 
A. Use a tape measure to measure and record the height and width of each cabinet. 
B. Determine how high off the ground you would like the cabinets to be (80mm -105mm) and make a 

horizontal mark at that position. 
C. Mark the width of each cabinet recorded in step A at the intended position, to ensure that the wall 

cabinets will align properly. 
D. Measure up from the line marked in step B and make a horizontal mark at each cabinet’s height 

recorded in step A to determine where the top of the cabinets will be. 
E. Make sure the cabinets will be at a suitable height and the wall cabinets are not out of reach.  
  
 

                              
 
 
 
Note: Make sure there are two studs to mount the locker on, as it is easiest to start the 
installation with the locker first. Due to the spacing of the wall studs, some wall cabinets may 
have only one stud to attach to; this is acceptable if the wall cabinets are bolted together. 
 

Floor 
B 

D 

Height 

C 

D 



 
                                                                     

 

10 

2. Hanging the lockers and wall cabinets on wall 
Open the doors and align the top of the locker with the lines marked for the position of the top of the 
cabinets and securely attach the locker into the studs using four M5x50 hex tapping bolts and four 
flat washers. 
 
 
 
                  
 
 
 
 
 
 
 
 
 
 
 
Repeat for the other locker and wall cabinets. 

3. Connecting the cabinets and lockers together 

For the cabinet set, open all the doors and remove the top drawer. Push the base / wall cabinet and 
locker together. Insert two M6x12 flat-head bolts through the two interior holes and secure them 
together with two M6 Hex flange nuts using a Phillips screwdriver and wrench. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Repeat on the other locker and cabinets 
Tighten all the bolts to fasten the cabinets and level the cabinets.    
The installation of the garage cabinet set is finished. 
 

 



 
                                                                     

 

11 

9-Piece Garage Cabinet Storage System 
GZTA30232011 / GZTA30232012 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

8-Piece Garage Cabinet Storage System 
GZTA30231011 / GZTA30231012 

 

10-Piece Garage Cabinet Storage System 
GZTA30242001 / GZTA30242002 



 
                                                                     

 

12 

Operation 
Drawer Removal 
 
Pull the drawer out so that it’s almost fully extended. Push up on the black release lever on one side, 
while pulling down on the black release lever on the other side. While holding the levers in the 
positions as illustrated below, pull the drawer outward until it is released from the drawer slide. 
 
Push up one side       Push down the other side 
 
 
 
 
 
 
 
 
 
 
Drawer Replacement 
 
Extend the drawer slides from the cabinet. Carefully insert the brackets on each side of the drawer 
into the slots in the slides and position them properly. Once inserted, close the drawer completely to 
set the slides in their proper positions. 
 
 

Maintenance 
1. Lubricate the slides twice a year with a quality lubricant. This is especially necessary when the 

temperature drops, which may cause the bearings to be stiff. 
 
2. Periodically clean the drawer fronts, doors, handles and other surfaces with mild detergent 

and water. 
 
3. For safety, use a non-flammable cleaning fluid. Grease and oil can be removed with most 

standard cleaning fluids. 
 
 
 
 
 
 
 
 
 
 
 


